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1-INITIATORY

The study to follow is intended to be a direct means that enable understanding what a
grounging system is,what it is intended to be,how can a system as such be setup,and
evaluate grounding systems that already exist and when needed how and what
improvements can be carried out to enhance its functionality.

| found this subject of importance as it is closely related to the safety of personnel and
properties and it is quite necessary to be in sound status to enable the correct functioning
of electrical protection devices.Also there is a concern arising from the rocky nature of some
of Sulaimaniya city which constitute a part of the total available land of the city which may
exhibit large resistivity and also make driving ground rods into such soils a difficult task to
carryout. | also noticed that this matter of grounding systems is ,in general terms, either
being totally neglected (particularly domestic wise)or measures that are taken would pass
without validation.

As some referances that | cite ,particularly those of experimental,are making use of feets
and inches,| prefered to present them as they are rather than converting them into their
metric equivilants. It is also to be noted that the words ‘ground’ and ‘earth’ are
interchangeably used throughout this paper.

Mohammed Karim Abdulrahman

Electrical Engineer



3- MEASUREMENT TECHNIQUES OF EARTH RESISTANCE

3a-Theoretical aspects: A grounding system that, for instance,be featured as a metalic
rod driven into ground is a means for connection to the mass of earth the resistance of
which should be low in order to handle large fault currents and prevent potetials that could
be dangerous to persons and detrimental to equipments.The ground resistance is
composed of three parts as follows:

- Resistance of the earth wire between the earthed point on the appliance and the earth
electrode.

- The contact resistance between earthed electrode and the soil immediately around the
electrode.

- The resistance of the earth to flow of current.

The resistance of the earth wire can be measured if necessary or its influence reduced by
making use of large cross-sectional connecting wires. Also the contact resistance is mostly
negligible as has been proven throughout experiments,although it may need special
treatment in certain cases.

We should ,therefore,be much concerned about the resistance of earth itself to flow of
current.To know the nature of this resistance consider an electrode as shown in fig.1. The
paths of current flow can be represented by rays in all directions through the soil within
hemispherical bowls in series as shown by semi-circles.Consider a hemispherical bowl! of
radius L to bigin with and a shell of infinitesmal thickness of dL .

Then its resistance will be dR=pdL /22

So that R=[ByE?pdL /2rL?=(p/2r)(1/L:-1/L5)



Ffigg‘ 1 Current flow

into the soil
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Where p is the soil resistivity,and for analysis purposes assumed constant to explore the
influential resistance of successive soils shells.When upper integral limit L, is taken infinetly
large to include all the equipotential hemisphers,then ultimate R is RB=p/2mL; ,so that,

R/RE =1-Ly/L,

To evaluate what soil depth is representing how much percentage of the ultimate resistance
table(1) is examined as follows :

Lo/Ly R/RE (%)
10 90

20 95

40 97.5
50 98

100 99

Above table is clearly indicating that the major part of the earth resistance do not go much
beyond the point of current injection. In practice it is sufficient to measure 98% of the
ground resistance,as there is no point in attempting to reach an accuracy higher than this
keeping in mind the seasonal influence on soil resistivity and hence the resistance as we
shall see.



3b- Nature of soil :

The nature of soil has the greatest influence on the value of earth resistance .As it has been
pointed out earlier ,the major part of any earth resistance lies not far away from the surface
of of the soil.And unfotunately soil sec tions ,in general,at these points have their greatest
resistivities.Therefore,it should be apparent that the role of grounding or earthing systems is
to reduce whatever possible of these large resistance layer and convey the electrical
connection to deeper and hence lower resistance as much as practicable.In general the the
resistivity (and hence the resistance of a grounding system)deoend on the following facters:

1-Type of the soil

2-Salt concentration.
3-Moisture content.

4- Temperature of the soil.

Soils differ in their resistivities,and only resistivity test can reveal to what extent a soil is
resistive.Salt concentration reduce the resistivity of a soil,and the addition of salts to the soil
immediately surrounding the ground electrode will play a role in reducing resistivity.Soils
that have higher moisture content exhibit low resistivity.According to experiments carried
out on red clay soil the resistivity increased 300 times when the moisture content decreased
from 22% to 10%. Very dry soils as well as frozen ones also have large resitivities.

3c- Earth Resistance Measuring Instruments.

In the article of “ Test Procedures “ that will follow,direct-reading instruments are made use
of in measuring ground system resistance.These instruments have to be of the type that can
disclude some sources of measuring error arising from circulating currents of power
frequency or its harmonics.Therefore such test instruments are required to inject test
currents of a frequency different from the power frequency and its harmonics.Such an
injected current test frequency is to be according to the following formula :

FE=(2n+1)FE/2

Where, FB=frequency of the instruments injected test current.
FE=power frequency=50 Hz .
n=any integer number greater than zero .

If an instrument design is using n=6, for instance, then its internal generator can inject a
test current of frequency of 325 Hz,which is different from the power frequency and its
harmonics.

The instrument is to be capable of selectively injecting and picking up its injected signal
only.This separation capability is carried out using high selectivity filters,and a very adequate



filtering configeration is the “synchronous rectifier “. The type of test instrument used better
be able ,through self diagnostic feature, to warn the operator when there is an improper
connection or if the injected current is bellow the required level so that such improper
conditions would not pass unnoticed.The available ground resistsnce testers have typically
accuracies of around +/- 2% .It is to be noted that in, ground resistance measurements
,errors of 5to 10% are tolerated because such a resistsnce can vary with seasonal changes
or temperature and these changes may be considerable, that is the reason why accuracies,
higher than indicated above, are not called for.

3d- Test Procedures

The earth electrode can be thought of as being surrounded by shells of earth ,each of the
same thickness .The shell closest to the electrode has the smallest surface area and offers
the greatest resistance .The next shell has larger area and lower resistance ,and so on.A
distance eventually will be reached where the additional earth shells do not add significantly
to the resistance.Each electrode resistance is measured to remote earth,which is the earth
outside the electrode influence.A larger electrode system requires greater distance before
its influence decreases to a negligible level.

A typical test set has 4 terminals—2 current terminals marked C1 and C2, and 2 potential
terminals marked Pland P2.

As shown in Fig.2 one current terminal (C1) is connected to the earh electrode under test
and the other (C2) to a probe driven in the earh some distance away.The test set instrument
injects a cuurent into the earth between the two current terminals.One potential
terminal(P1) also is connected to the earth electrode but the other potential terminal(P2)is
connected to a separate probe driven in the earth between the electrode and the current
probe(C2).The potential probes detect the voltage due to the current injected in the earth
by the current terminals .The test set measures both the current and voltage and internally
calculates and then displays the resistance, as R=V/I. The resistance indicated by the test is
the resistance between the earth electrode and the potential probe.If the current and
potential probes both are far enough awayfrom the electrode,that is ,outside the influence
of the electrode ,the reading corresponds to the resistance of the electrode to remote earth.
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3e-Fall of Potential

The ‘Fall of Potential ‘ is the most common method of measuring ground resistance,but it
requires special procedurs when used to measure ‘Large Electrode Systems ‘ (that may
include numerous types of bonded electrodes such as ground rods,grids,concrete encased
electrodes ,water well casings,and buried radial wires).For ‘ Small Electrode Systems ‘ (such
as one or few ground rods or a small loop ) the ‘Fall of Potential ‘requires only simple
procedures.The basic procedure (refere to Fig. 2 )is to first connect the test set terminals C1
and P1 to the ground electrode under test,and C2 terminal to a current probe located some
distance away from the electrode ,finally the test sets P2 terminal is connected to the
potential probe located a variable distance between.The two probes are normally located in
a straight line.At each potential probe location ,the resistance readout is recorded. The
results of these measurements are then plotted to graphically determine the electrode
resistance.

Fig. 3 is showing the resistance areas around the grounding system and the current
probe.Basically the farther the distance between them the less the influence of the
hemospherical resistance areas as they do not overlap as far as they are separated by
enough distance.

Fig. 3 is also showing variation of resistance with distance.For the situation where the
current probe is far enough from the tested ground system,the resistance value levels off
having a flat zone .This flat zone is indicating absence or minimum effect of overlap of the
influential shells of resistance.

Researches revieled that the value of the tested ground is within this flat zone and in
particular at 61.8% of the distance from the tested electrode to the current probe,provided
that the resistivity of the soil is homogenious .
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3f-Fall of Potential for ‘Small Electrodes ‘

As mentioned earlier ,a ground system composed of one or a few ground electrodes or a
small loop is considered as ‘small electrode system’ which can follow the procedure as
bellow :

Terminals C1 and P1 are connected as shown in Fig, 2 .The current pole is driven into earth

(to a depth of 8 -12 inches ) at a distance of 100-200 ft. from the ground electrode under
test ,and the terminal C2 of the test instrument is connected to it.The potential probe is
driven into the earth ,to the same depth as the current probe,midway between the tested
rod and the current probe and connected to terminal P2 of the test instrument.The
resistance value readout is recorded when the potential terminal is midway.The potential
probe is then moved 10 ft. farther away from the tested electrode and the second
resistance value readout is recorded.Finally,the potential probe is moved a distance of

10 ft. closer to the tested electrode and the third resistance value readout is recorded.
The average resistance of the three readouts are calculated and called Ro .

The results are analyzed according to the following criteria :

IF (Ro-R1)/Ro and ( Ro-R2)/Ro and also (Ro-R3 )/Ro are all as small as 2-3% then Ro
can be taken as the resistance of the ground rod under test.

IF on the other hand above criteria do not yield the maximum limits of disagreement as

above ,then the procedure for ‘Large Electrode Systems ‘,that will follow, are carried out.

3g- Fall of Potential’ Large Electrode Systems.

A set of measurements can be made to save time but may not yield the required accuracy if
the current and potential probes are not outside the electrical influence of the electrode
system.by reference to Fig.2 :

First,the current probe is driven to earth 400 to 600 ft. from the tested electrode ,and the
potential probe is driven to earth 61.8% of the distance from the electrode to the current
probe.The resistance is measured under this condition .

Second, the potential probe is moved 50 to 100 ft.farther away from its presant position
,and the resistance again recorded.



Third, the current probe is moved closer by 50 to 100 ft. and the potential electrode is
placed at 61.8 % of the new distance, then the resistance is measured under this new set of
distances.

Fourth, The above steps are repeated.
Fifth, The resistance readings are averaged.

As it was discussed earlier ,the ground electrode can be thought of as being surrounded by
concentric shells of earth.The current probe is also surrounded by earth shells but with a
relatively smaller influence.lt is necessary to locate the current probe far enough away so
that the influential shells do not overlap.

Fall of Potential method measurements are based on the distance of the current and
potential probes from the center of the tested electrode.Most of the time ,the location of
the center of the electrode is unknown,in particular when it consists of a lot of types of
bonded electrodes like grids,rods,water well casings,and radial wires.For situations as these
special procedures are followed like the Slope Method or the Intersecting Curves.

As it was stated earlier ,if space is not posing measurement restrictions, then the farther the
current probe is placed the less is the error which arise from interfering earth resistance
areas. Theoretical and experimental work indicate that the current probe has to be placed
10 to 20 times the ground maximum length or the ‘Maximum Electrode Dimension ‘ for
larger ground systems.For instance if the system is constituted of rectaingular or square
shape then the ‘Maximum Electrode Dimension’ is the diagonal length.

As the 61.8% measurement is based on homogenious soil resistivity to a depth around 10
times the ‘Maximum Electrode Dimension ‘ a condition that cannot be confirmed with
certainity ,therefore some measures can be taken to endup with a satisfactory measurement
result.

It is arranged to obtain three sets of measurements with the current probe distances of 200
ft. away from the tested electrode ,and the second set of measurement with a distance of
300ft. and finally a set with 400 ft.and ,whenever, possible in different directions.

For each set of measurement ,the potential probe is placed at 20 ft. away from the tested
ground and a resistance readout is recorded.Then the potential probe is moved 5 ft. to 10
ft.farther away to record the second resistance readout .This is repeated at each potential
probe location increament of 5 ft. to 10 ft. untill it reaches about 20 ft. from the current
probe.

Finally three sets of measurements are obtained and plotted with distance from the ground
electrode.These curves are examined to detect any reading that cause departure from
smoothness of curve and the operator decides if a replacement measurement has to be
done. From the resulting curves (an example of which is shown in Fig. 4 )the slopes in ohm/
ft are calculated at mid points and are analyzed according to the following :

R
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3h-The procedure of ‘ Intersecting Curves *

In particular with large ground systems,whenever the center of such a system is not known
accurately ,the data obtained by ‘Fall of Potential ‘ can further be cross-checked using the
Intersecting Curves procedure .In this procedure the actual center of the grounding system
is assumed to be a distance X from the previous test connection. Assumed values of X are
varied in inceaments of 10 ft.,to calculate the modified location of the potential probe
which should equal to : 61.8%(X+D)-X . With these distances ,and making interpolations as
necessary, corresponding resistances are read from the original data.This process is
repeated for all the sets of the data .This new sets of data are plotted with resistance as
ordinate against the modified distance and called ‘Intersecting Curves ‘, as the intersecting
point of the curves indicate actual ground resistance of the system.

With this procedure ,and if the curves do not intersect at one point but rather form a
common small shape,then the size of such a shape has to be evaluated in order to either
accept the results,or recheck and possibly repeat the test,because the size of such a shape is
representing the uncertainity of the measurement.When the curves do not intersect at
all,the whole test and instrument have to be checked thoroughly.

3i-The ‘Slope Method ‘

This method can also be used to cross-check the other methods or it can be used to
measure the ground system resistance.

Distance from the ground rod are calculated as 0.2D ,0.4D,and 0.6D, where D is the
separation between the current probe and the ground system.The resistances R1,R2,and R3
, in the same respective order, are read,with interpolation as necessary,from the data
corresponding to above distances.The change of slope is calculated as follows :

A=(R3-R2)/(R2-R1)
The ‘Slope Method ‘table is entered with above change of slope to read the value of

Pd/D .This latter value is multiplied by D to find Pd . With this Pd distance the data is entered
to find the value of the resistance.Similarly ,the same procedure is carried out for all the
data sets.When the resistances are reasonably close the values can be used with confidence.

VY



4-REMARKS

-The value of ground resistance is not strictly indicated by codes. Apparently codes indicate
that a groud rod having 25 ohm resistance should be supplimented by another rod.Some
installations require 5 ohm,others reqyire 3 ohms.Substations and power plants may
require no more than 0.5 ohms.

-The depth to which a ground electrode is driven is an important factor in lowering ground
resistance,and it should be long enough to reach the permanent moisture level of the
soil.For this purpose ,and instead using hand held hammer,an electric demolition hammer(a
smaller version of a road breaker ) is made use of .Ground rods ae usually copper-coated
steel,the most common is 10 ft. in length and of % inches diameter.

-Driving deep electrodes bonded with existing ground systems is recommended when the
existing ystem is tested to be one of high resitance.

-Multiple rods provide another effective means of improving ground systems,and the more
are spaced, within practical limits,the better the ohmic status of the system will be
.Vertically driven rods are generally used where bedrock is beyond a depth of about 10
ft.On the other hand ,where bedrock is near the surface ,electrodes are unpractical to use.In
such cases solid wires ,stranded cables,or horizotal strips are used.Also ,high resistivity rock
can be overlain by clay that have low resistivity.

-lon-producing chemicals added to the soil immediately surrounding electrodes help in
lowering resistance.The chemicals may gradually washed away by rainfall and natural
drainage.lnaddition ,there are some reservations in resorting to chemicals arising from
concerns of invirenmental protection.

5-REFERANCES
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For the calculated value of A in column 1 and row 1, read the corresponding value of Py/D from

the table

A
0.40
0.41
0.42
0.43
0.44
0.45
0.46
0.47
0.48
0.49
0.50
0.51
0.52
0.53
0.54
0.55

0.57
0.58
0.59
0.60
0.61
0.62
0.63

0.65
0.66
0.67
0.68
0.69
0.70
0.71
0.72
0.73
0.74
0.75
0.76
0.77
0.78
0.79
0.80
0.81
0.82
0.83
0.84

0
0.6432
0.6418
0.6503
0.6389
0.6374
0.6360
0.6346
0.6331
0.6317
0.6302
06288
0.6273
0.6258
0.6242
0.6227
0.6212
0.6197
0.6182
0.6166
0.6151
0.6138
0.6120
0.6104
0.6087
0.6071
0.6055
0.6038
0.6023
0.6006
0.5990
0.5974
0.5957
0.5940
0.6923
0.5906
0.5889
0.5871
0.5854
0.5837
0.6820
0.5803
0.5785
0.5766
0.5748
0.5729

1
0.6431
0.6416
0.6402
0.6387
0.6373
0.6359
0.6344
0.6330
0.6315
0.6301
0.6286
0.6271
0.6256
0.6241
0.6226
0.6210
06195
0.6180
0.6165
0.6150
0.6134
06118
06102
0.6086
0.6070
0.6053
0.6037
0.6021
0.6005
0.5989
0.6973
0.5955
0.5938
0.6921
0.5904
0.5887
0.5870
0.5853
0.5835
0.5818
0.5801
0.5783
0.5764
0.5746
0.5727

Slope Method Tables

2
0.6429
0.6415
0.6400
06386
0.6372
0.6357
0.6343
0.6328
06314
0.6300
0.6285
0.6270
0.6255
0.6238
0.6224
0.6209
06194
0.6179
0.6163
0.6148
0.6133
0.6117
06100
0.6084
0.6068
0.6052
0.6036
0.8019
0.6003
0.5987
0.5971
0.5953
0.5936
0.5920
0.5902
0.5885
0.5868
0.5851
0.5834
0.5817
0.5799
0.5781
0.5762
0.5744
0.5725

3
0.6428
0.6413
0.6399
0.6384
0.6370
0.6356
0.6341
0.6327
0.6312
0.6298
0.6283
0.6268
0.6253
0.6238
0.6223
0.6207
06192
0.6177
0.6162
0.6147
0.6131
0.6115
0.6099
0.6083
0.6066
0.6050
0.6034
0.6018
0.6002
0.5985
0.5969
0.5952
0.5935
0.6918
0.5900
0.5883
0.5866
0.5848
0.5832
0.68156
0.5797
0.5779
0.5760
0.5742
0.5723

4
0.6426
0.6412
0.6397
0.6383
0.6369
0.6354
0.6340
0.6325
0.6311
0.6297
0.6282
0.6267
0.6252
0.6236
0.6221
0.6206
0.6191
0.6176
0.6160
0.6145
0.6130
06113
0.6097
0.6081
0.6065
0.6049
0.6032
0.6016
0.6000
0.5984
0.5967
0.5850
0.5933
0.5916
0.5899
0.5882
0.5865
0.5847
0.5830
0.5813
0.5796
0.5777
0.5759
0.5740
0.5722

5
0.6425
0.6410
0.6396
0.6382
0.6367
0.6353
06338
06324
06310
0.6295
0.6280
0.6265
0.6252
0.6235
06220
0.6204
0.6188
06174
0.6159
0.6144
06128
06112
0.6096
0.6079
0.6063
0.6047
0.6031
0.6015
0.5998
0.5982
0.5965
0.5948
0.5931
0.5914
0.5897
0.5880
0.5863
0.5846
0.5829
0.5812
0.5794
0.5775
0.5757
0.5738
0.5720

6
0.6423
0.6408
0.6395
0.6380
0.6366
0.6351
0.6337
0.6323
0.6308
0.6294
0.6279
0.6264
0.6248
0.6233
0.6218
0.6203
0.6188
0.6172
0.6157
0.6142
06126
0.6110
0.6094
0.6076
0.6061
0.6045
0.6029
0.6013
0.5997
0.5980
0.5964
0.5047
0.5930
0.5912
0.5895
0.5878
0.5861
0.5844
0.5827
0.5810
0.5792
0.5773
0.5755
0.5736
0.5718

7
0.6422
0.6408
0.6393
0.6379
0.6364
0.6350
06336
0.6321
0.6307
0.6292
0.6277
0.6262
0.6247
06232
06217
0.6201
0.6186
06171
0.6156
06141
06125
06108
0.6092
0.6076
0.6060
0.6044
0.6027
0.6011
0.5995
0.5979
0.5962
0.5945
0.5928
0.5911
0.5894
0.5877
0.5859
0.5842
0.5825
0.5808
0.5790
0.5772
0.5753
0.5735
0.5716

8
0.6420
0.6406
0.6392
0.6377
0.6363
0.6348
0.6334
0.6320
0.63056
0.6291
0.6276
0.6261
0.6245
0.6230
0.6215
0.6200
0.6185
0.6169
0.6154
06138
0.6123
0.6107
0.6091
0.6074
0.6058
0.6042
0.6026
0.6010
0.5993
0.5977
0.5960
0.5943
0.5926
0.5909
0.5892
0.5875
0.5858
0.5841
0.5824
0.5806
0.5788
0.5770
0.5751
0.5733
0.5714

9
0.6418
0.6405
0.6390
0.6376
0.6361
0.6347
0.6333
0.6318
0.6304
0.6289
0.6274
0.6259
06244
0.6229
0.6214
0.6198
0.6183
0.6168
06153
0.6138
0.6121
06105
0.6089
0.6073
0.6057
0.6040
0.6024
0.6008
0.6992
0.5976
0.5959
0.5942
0.5924
0.5807
0.5890
0.5873
0.5856
0.5839
0.5822
0.5805
0.5786
0.5768
0.5749
0.5731
0.5712
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For the calculated value of A in column 1 and row 1, read the corresponding value of Pp/D from

the table

A
0.85
0.86
0.87
0.88
0.88
0.90
0.91
0.92
0.93
0.94
0.95
0.96
0.97
0.98
0.99
1.00
1.01
1.02
1.03
1.04
1.05
1.06
1.07
1.08
1.09
1.10
1.11
1.12
1.13
1.14
1.15
1.16
1.17
1.18
1.19
1.20
1.21
122
123
1.24
1.256
1.26
1.27
1.28
1.29

]
0.5711
0.5692
0.5674
0.5855
0.5637
0.5618
0.5598
0.5578
0.5557
0.5537
0.5517
0.5497
0.5477
0.5456
0.5436
0.5416
0.5394
0.6371
0.5349
0.5327
0.5305
0.5282
0.5260
0.6238
0.5215
0.5193
0.5168
0.5143
05118
0.5093
0.5068
0.5042
0.5017
0.4882
0.4967
0.4942
0.4913
0.4884
0.4856
0.4826
0.4797
0.4768
0.4739
0.4710
0.4681

1
0.5709
0.5690
0.5672
0.5653
0.5635
0.5616
0.5596
0.5576
0.5555
0.5535
0.5515
0.5495
0.5475
0.5454
0.5434
0.5414
0.5391
0.5369
0.5347
0.5325
0.5302
0.5280
0.5258
0.5236
0.5213
0.5190
0.5165
0.5140
05115
0.5090
0.5065
0.5040
0.5015
0.4890
0.4965
0.4939
0.4910
0.4881
0.4852
0.4823
0.4794
0.4765
0.4736
0.4707
0.4678

Slope Method Tables

2
0.5707
0.5688
0.5670
0.5651
0.5633
0.5614
0.5594
0.5574
0.5553
0.5533
0.5613
0.5493
0.5473
0.5452
0.5432
0.5412
0.5389
0.5367
0.5345
0.5322
0.5300
0.5278
0.5255
06233
0.5211
0.5188
0.5163
05137
05113
0.5088
0.5062
0.5037
0.6012
0.4987
0.4962
0.4936
0.4907
04878
0.4848
0.4820
0.4791
0.4762
04733
0.4704
0.4675

3
0.5705
0.5686
0.5668
0.5650
0.5631
0.5612
0.5592
0.5572
0.5551
0.5531
0.5511
0.5491
0.5471
0.5450
0.5430
0.5409
0.5387
0.5365
0.5344
0.5320
0.5298
0.5276
0.5253
0.5231
0.5209
0.5185
0.5160
0.5135
0.5110
0.5085
0.5060
0.5035
0.5010
0.4985
0.4960
0.4933
0.4904
0.4875
0.4846
0.4817
0.4788
0.4759
04730
0.4701
04672

4
0.5703
0.5685
0.5666
0.5648
0.5629
0.5610
0.5590
0.5570
0.5549
0.5529
0.5509
0.5489
0.5469
0.5448
0.5428
0.5407
0.5385
0.5362
0.5340
0.5318
0.5296
0.5273
0.5251
0.5229
0.5208
0.5183
0.5158
0.5132
0.5108
0.5083
0.5057
0.5032
0.5007
0.4982
0.4957
0.4930
0.4901
0.4872
0.4843
0.4814
0.4785
0.4756
0.4727
0.4698
0.4669

5
0.5701
0.5683
0.5664
0.5646
0.56827
0.5608
0.5588
0.5568
0.5547
0.5627
0.5507
0.5487
0.5467
0.5446
0.5426
0.5405
0.6383
0.5360
0.5338
0.5316
0.5293
0.5271
0.5249
0.5229
0.5204
0.5180
0.5155
0.5130
0.5105
0.5080
0.5085
0.5030
0.5005
0.4980
0.4955
0.4928
0.4899
0.4870
0.4841
0.4812
0.4783
0.4754
0.4725
0.4696
0.4667

6
0.5699
0.5681
0.6662
0.5644
0.5625
0.5606
0.5586
0.5565
0.5545
0.5626
0.5505
0.5485
0.5464
0.5444
0.5424
0.5403
0.5380
0.5358
0.5336
0.5313
0.5291
0.5269
0.5247
0.5224
0.5202
0.5178
0.5153
0.5129
0.5103
0.5078
0.5052
0.5027
0.5002
0.4977
0.4952
0.4925
0.4896
0.4867
0.4838
0.4809
0.4780
0.4751
0.4722
0.4693
0.4664

7
0.5698
0.5679
0.5661
0.5642
0.5624
0.5604
0.5584
0.5563
0.5543
0.5523
0.5503
0.5483
0.5462
0.5442
0.6422
0.5400
0.5378
0.5356
0.5333
0.5311
0.5289
0.5267
0.5244
0.5222
0.5200
0.5175
0.5150
0.5125
0.5100
0.5075
0.5050
0.5025
0.5000
0.4975
0.4850
0.4822
0.4893
0.4864
0.4835
0.4808
0.4777
0.4748
0.4719
0.4690
0.4661

8
0.5696
0.5677
0.5659
0.5640
0.5622
0.5602
0.5582
0.5561
0.5541
0.5521
0.5501
0.5481
0.5460
0.5440
0.5420
0.5308
0.5376
0.5354
0.5331
0.5309
0.5287
0.5264
0.5242
0.5219
0.5197
05173
05148
05122
0.5088
0.5073
0.5047
0.5022
0.4997
0.4972
0.4947
0.4919
0.4890
0.4861
0.4832
0.4803
04774
0.4745
04715
0.4687
0.4858

9
0.5694
0.5675
0.5657
0.5638
0.5620
0.5600
0.5580
0.5659
0.5539
0.5519
0.5499
0.5479
0.5458
0.5438
0.5418
0.5396
0.5374
0.5351
0.5329
0.5307
0.5284
0.5262
0.5240
0.5217
0.5195
0.5170
0.5145
0.5120
0.5085
0.5070
0.5045
0.5020
0.4995
0.4970
0.4845
0.4916
0.4887
0.4858
0.4829
0.4800
0.4771
0.4742
0.4713
0.4684
0.4655

1



For the calculated value of A in column 1 and row 1, read the corresponding value of Py/D from

the table

A
1.30
1.31
1.32
1.33
1.34
1.35
1.36
1.37
1.38
1.39
1.40
1.41
1.42
1.43
1.44
1.45
1.48
1.47
1.48
1.49
1.50
1.51
1.52
1.53
1.54
1.55

157
1.58
159

1]
0.4652
0.4618
0.4583
0.4548
0.4515
0.4481
0.4448
0.4412
0.4378
0.4343
0.4308
0.4267
0.4225
0.4183
0.4141
0.4098
0.4056
0.4014
0.3972
0.3930
0.3888
0.3840
0.3971
0.3740
0.3688
0.3635
0.3580
0.3623
0.3465
0.3405

1
0.4649
0.4614
0.4580
0.4546
0.4511
0.4477
0.4443
0.4408
0.4374
0.4340
0.4305
0.4263
0.4221
0.4178
0.4136
0.4094
0.4052
0.4010
0.3976
0.3926
0.3883
0.3835
0.3786
0.3735
0.3683
0.3630
0.3574
0.3517
0.3459
0.3339

Slope Method Tables

2
0.4645
0.4611
0.4577
0.4542
0.4508
0.4474
0.4439
0.4405
0.4371
0.4336
0.4301
0.4258
0.4216
0.4174
0.4132
0.4080
0.4048
0.4005
0.3964
0.3921
0.3878
0.3830
0.3781
0.3730
0.3677
0.3624
0.3568
0.3511
0.3453
0.3393

3
0.4642
0.4807
0.4573
0.4539
0.4505
0.4470
0.4436
0.4402
0.4367
0.4333
0.4296
04254
0.4212
0.4170
0.4128
0.4086
0.4044
0.4001
0.3959
0.3917
0.3874
0.3825
0.3776
0.3724
0.3672
0.3619
0.3563
0.3506
0.3447
0.3386

4
0.4638
0.4604
0.4570
0.4535
0.4501
0.4467
0.4432
0.4398
0.4364
0.4330
0.4292
0.4250
0.4208
0.4166
0.4124
0.4082
0.4040
0.3997
0.3955
0.3913
0.3869
0.3820
0.3771
0.3719
0.3667
0.3613
0.3557
0.3500
0.3441
0.3380

5
0.4635
0.4601
0.4566
0.4532
0.4498
0.4463
0.4429
0.4395
0.4360
0.4326
0.4288
0.4246
0.4204
0.4162
0.4120
0.4077
0.4035
0.3983
0.3951
0.3909
0.3864
0.3816
0.3766
0.3714
0.3662
0.3608
0.3552
0.3494
0.3435
0.3374

6
0.4631
0.4597
0.4563
0.4529
0.4494
0.4460
0.4426
0.4391
0.4357
0.4323
0.4284
0.4242
0.4200
0.4157
04115
04073
0.4031
0.3988
0.3047
0.3905
0.3859
0.3811
0.3760
0.3708
0.3656
0.3602
0.3546
0.3488
0.3429
0.3368

{
0.4628
0.4594
0.4558
0.4525
0.4491
0.4457
0.4422
0.4388
04354
0.4319
0.4280
0.4237
0.4195
0.4153
04111
0.4069
0.4027
0.3985
0.3943
0.3900
0.3854
0.3806
0.3755
0.3704
0.3651
0.3597
0.3540
0.3482
0.3423
0.3362

8
0.4625
0.4590
0.4556
0.4520
0.4487
0.4453
0.4419
0.4384
0.4350
0.4316
0.4275
0.4233
0.4191
0.4149
0.4107
0.4065
0.4023
0.3980
0.3938
0.3896
0.3850
0.3801
0.3750
0.3698
0.3646
0.3591
0.3534
0.3477
0.3417
0.3355

9
0.4621
0.4586
0.4553
0.4518
0.4484
0.4450
0.4415
0.4381
0.4347
04312
0.4271
04229
0.4187
0.4145
0.4103
0.4061
0.4018
0.3976
0.3934
0.3892
0.3845
0.3796
0.3745
0.3893
0.3640
0.3586
0.3528
0.3471
0.3411
0.3348

Data Source:
Measurement of the Resistance of Physically Large Earth-Electrode Systems. G.F. Tagg,
Proceedings of the IEE. Vol. 117, No. 11, November 1970.
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